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You have four choices for each objective type question as A, B, C

and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet, Q.No.1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D C B A QUESTIONS /=41y ['Sr.No, |
12g 18amu 18¢g 98amu | The mass of one mole of water is: _l\
--UW¥ (Mole) JrLiZ
10% 11% 14% 12% Percentage of hydrogen present in ocean is: 2
-‘L-,/l':b/oﬂui_’hjbﬂ'
Nothing Protons Neutrons Electrons | When U —235 breaks up, it produces: 3
gL 7':5:/' V224 '/':/‘.al -lal.'b.f?‘aw U-235_2
No unit J Kj/mole Kj Unit of electronegativity is: 4
e 25, 20
HCY HF NH, H,0 | The strongest hydrogen bond present in 5
) which?
?lajzfufq_/iﬁl_.gfuﬁﬂh:"‘aﬂ,/
MgCt, KBr NaC¢ C H, | Identify the compound which does not 6
- soluble in water:
Bnd f g S esedisdn
Chlorine Fluorine Helium Hydrogen gas will diffuse fastest. 7
\;,_’ug J_ul’ (.l-/" (f-u}_ﬂ -anf.)‘]:'aq;f-r_
160g 158¢ 156 g 154g | Molecular mass of KMnO, is: 8
Ut KMnO,
Sugar Milk of Magnesia Ink Milk is a heterogeneous mixture; 9
solution el T g UL FiTy et S
Sr P
Fe(OH), | Fe(OH),.nH,0 | Fe,0,nH,0| Fe,0, | The formula ofrust is: 10
_9113")5{ (@3)%y
T In the redox reaction between Zn and 11
1, H* Hce Zn HCZ, the oxidizing agent is:
cbnpnl HCU w1 Zn 251600 5
e O EAT N
Silver Gold Iron Sodium is least malleable. 12
dsy br vt v o 14
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V1 MA :
MAXIM® | MARKS: 48 | SUBJECTIVE #10 B = I
NOTE: Wrife same question number and its parts number on nnswer book, ag given In the question paper. -ﬁ—lw¢iwrfzsfba/z:ﬂ/durwudf¢l o)
SECTION-1 i.»
2. Attemptany five parts | 10=2xs E A LS 2
i) | Whatis element? Write percentage of Oxygen i P 2 * =
® following: : Sl U2 f el T Sdite et | ()
(i) Earth’s crust (i) Oceans A Gi) e ) e SFa )
(iii) Atmosphere
(ii) | How many times magnesium(Mg) atom is heavier =3 - iz -
than Carbon(C) atom. Justify it. Pl () ’(Mg)f') (i)
;k Sl
! (1i1) W]'ly. few {\lpha(a) Pamcles did bounce back on Erow £ o £ Lf o Sius| (i)
striking with gold foil? T
?Zf Ul &= (a - particles)
i Differentiate betv Bohr’ ’ i T F :
(iv) mIOdzrl.en 1ate between Bohr’s and Rutherford’s atomic -d_)’/./dfufdil-ﬁ"L/:i»'bh» (iv)
(v) | Why modern periodic table is more acceptable than S e (. K i B v
Mendeleev’s periodic table? JAdsubief SoLdidf fgon | W)
fetbtiud
(vi) | Why ionization energy is taken as positive and electron . gt . s d oy vi
affinity as negative? 7T Negative S5 6 | (VD
te bl Positive
vii) | Differentiate between periods and s in a periodi SIN N, : ¥
(vii) able. P groups In a periodic —s.).'//./’d/gﬁil./.'wﬁﬁ)fuﬁd"u@ﬁ (vii)
(viii) | Define atomic radius. Also give its examples. J J{UJC‘/JJ' S P S Rt (viii)
L0 U ZUVA z 2
3. Attempt any five parts. 10=2X5 é/}’- Hiél?lél.c.‘jf 340
(i) | Why do noble gases not form chemical bond? > “:jbu‘;u T J{»‘} ) )
oL U SJes
i Differentiate between covalent bond and dative coval =5 =
u bond. " Yosm ~Eodit st fimsad,y | ()
(iii) | What are Metals? Write their at least two properties. u"ﬁ T 'J, F e |G
n = R 2 =R @ T A Vi et
(iv) | Evaporation is a cooling process. Justify-it. PAAN - e ; I20)
e - I, LIEvaporation
v Differentiate between amorphous and crystalline solids ¥t - 7h :
2 along with examples. JITuj e nlsme g Sl a | (V)
Differentiate between dilute sol d Lo
(vi) ifferentiate between dilute solution and concentrated TR A 7 :
solution. Also give examples. I PIN ,Jp,;_/ slfafy | (Vi)
(vii) | Whyd i d soluti I dall il
vii hy do suspensions and solutions not show tynda 5 ; = ol oo e =
! effect, while colloids do? LIS Ol bl ) b g | (VD)
b e T o ol sz Sl 6
viil 0 *¢ is soluble i ter? :
L-‘ ) w NaC? i . in water ?+letf4'u:dgNaCf (Vi)
5 Attempt any five parts. 10=2 X :

’—.-, N e 2R3 -Eof Nzl §f  afdr
(1) | What is oxidation number? Write oxidation number of KU 6t Ba. (PO,). Se AR | (D
phosphorus in Ba,(PO,), . 0(PO,), "l A1)

-ér Pl
(ii) | What will happen if we remove salt bridge from ’ = = 1
Galvanic cell? . J6(Salt Bridge) bl kil fi | (D)
xly
(iii) | Differentiate between Galvanic cell and S =
Electrolytic cell. 1F 0 ven £ &g ay | (i)
(iv) | Which reactions occur in D. 117 -
v ich reaction n Down’s cell? p s & :
( Wn i fvsicaland ?tﬂLﬂ/.»‘;Ci':u)"('dJc.quﬁ‘rgﬂ; (iv)
\ rite at least two physical and chemical properti I T T
: metals. PEpSTIGE R -Ue *E‘!”tﬁ-?»'%;{c-ﬁ(}':‘ )
(vi) | Why Group-1 elements are called “Alkali metals” and L o 7 c
Group-2 elements are called “Alkaline earth” metals Ijlkuﬁ’*{-/g’(ﬁféz‘v‘”c"l - (vi)
.. respec.tive]y'?. m:éuﬂ‘ciﬂcfm:
(vii) | What is the difference between Steel and Stainless stee]? S G A m | (vid)
(viii) | Define Electropositivity, with one example, > g Ty Ay
Also give its trend in periodic table. VF S J":’-"ﬁ’/g e Jor L (vii)
'.éﬂ&ﬂﬂﬂmrv" 4]

CamScanner


https://v3.camscanner.com/user/download

N(‘yn.‘,g Attempt any two questlons,

S(A)

()

6 (A\)

(3)

1(A)

(B)

SECTION:I
||u~zxo

What do you know about ¢hemical enleulations?

Explain it. Also deseribe Mole-Mass mnd Mole-Partlele

calculations, Also give summary of Molar
caleulations,

Who did prove that *Plum«Pudding™ model of atom
was not correet? And describe its model with results
and observations,

How will you justify that bond strength in polar
covalent compounds is comparable to that ol jonle
compounds?

Define and explain Charles Law of gases with detail,

Define electroplating. Write its principle. Explain
clectroplating of silver and zinc.

What is solubility? Explain factors affecting solubility.
Explain how temperature aflect solubility?

rn./

P g W RNy POV 2
S I Molo-particle a1 Mole-Mass o/
5 Wt SIS
b L J{ff»l._lf M (Plum=Pudding) J?Mv
. q/ug&-“ "7?/',fw:fgﬂuzlnuhy’dw:m
Lanrveud e/ )M ),"nkf;;’} .,J
5 .,,{.-)Lh 1L u,'f

Sy e Ao Lwolenfude £ AL LS iy
4 /)

[ (A ).5

()

()6

(o)

L g S f R VS S Lo 2

5 S eZine) K (Silver) s ST
."_f}lii/'uﬁ‘;.uffwT;.L/(Solubi”ly) FEsr
q ﬂ'.;_t'n}ly'/,d‘lf.:’r ¥(Temperature) /,/.) 'y

(.7

()

|

"{4/ wlMCulﬂm@.J{ - “.MJ 7


https://v3.camscanner.com/user/download

o

: x\um&:»%_r < SSC PART-1 (9" Class) (MODEL PAPER)
| CHEMISTRY  PAPER-I s
. U4 UFF
!llME ALLOWED: 15 Minutes o LT,
, » 'd . .
| MAXIMUM MARKS: 12 L OBJECTIVES >~ 12 = IS
i pie S A B A Sz g L ozenatund e yzv Ldir 43602 Lz sDaCB AL LL iy 1 /';d'f
You have four choices for each objective type questionas A, B, C ot sl 2o A Sz S SIS NE S 3 s
and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
| D C B A QUESTIONS /=iy Sr.No.
| Physical Nuclear Organic Analytical | The branch of chemistry that has vast application 1
| chemistry | chemistry chemistry chemistry | in medical treatment(radiotherapy) is:
gL | apEAe | eI | oS e Bl st A rhscsted bn i A
| Rutherford | Goldstein 1) Sir William | Noble Prize in Physics was awarded to in 2
‘ 5k Jesd Thamson Crooks 19062
X1 £ s
S | Sy VS A3, 1906
1 clectron | 5 electrons | 7 electrons | 17 electrons | Halogen group has electron in its outermost shell: 3
Y N¢ P sl Py e B0 O Mab gt S P
HexH He-H H-H H, Which structure has Lewis structure diagram? 4
e B Sus saS Sy S staUf
l4gdm™ |15 gdm™ | 1.6 gdm™ | 1.7 gdm™ | The density of oxygen at 20°C is: 5
-.Lan&’-'-:‘u(tf:?/, 20°C
HC? Li,SO, KCt NaC¥¢ Which salt does absorb heat? 6
et ez US
Zero +2 =1 -2 The oxidation number of oxygen in OF, is: 7
< APIWF T OF,
Metallic Greasing Alloying | Galvanizing | The process of coating a thin layer of zinc on iron is 8
coaling tfu{f jm j/’l,l}“_f called:
L i -u].‘ffff&LLz:JA.{MJ)zﬁM?
Cesium Osmium | Aluminium Uranium | The most reactive metal is: 9
b ot (_::’,h r_%,! -‘L(J;:)"-(IL‘JUE]L.._/
Gas-gas Gas-solid | Gas-liquid | Liquid-gas | Air has type of solution. 10
A | v | b =l e Fin
46% 78% 86% 47% The percentage of oxygen in ocean is: 11
_.L.AJ'JJ"JTUZM}’
H, HC? NaCt KCt The example of Covalent compound is: 12
e Jedidedsd
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JCPEMISTRY  PAPER- be-24|  UHE
" TIME AFTOWED: 1.45 Hours & 145 = =,
MAXIMUM MARKS: 48 SUBJECTIVE 2812 48 = /J
NOTE: Write same question number and its parts number on answer book, as given In the question paper. .4.(-,;:‘;{4.11;—/;‘5@,,/2,,;/‘}1,0,,&@,_,_L;
SECTION-1 Jii»
2 bl L i s l =g ts L jNrlambye §f 240r
(i) [ Write the molccular and empirical formula of sodium -Ll//jUr/litﬁﬁlu'/::glb’}fuﬁﬁjy i)
chloride.
(i) | How can you differentiate between free radical and ion? S LS Ll STmbinsjr | (i)
(iii) Define Mole. sy (iii)
T"T_ Write electronic configuration of chlorine. _Jf/_/;d'g}i’vaf.gu;d”{ (iv)
() | How many isotopes have carbon and uranium? s pE RIS TS E g )
~(vi) | What is Carbon dating? e ik | VD)
W Describe Mendeleev’s periodic law. -J/ukﬁuu@g[eé_ﬂ;"—: (vii)
(viii) | Why does the size of atom decrease in period? ?c_rn[u,_f-ﬂ,{r‘:,u:;ﬁ (viii)
—3_’__ Attempt any five parts. 10=2 X5 _5‘,"-:/,/’&&'15'2‘53:—6/ 32Ul
0] Why chlorine is bounded to accept only 1 electron? S udibE SIS B s g | )
(ii) | Giveone example of coordinate covalent bond. Loy a7 (i)
(iii) | Define Covalent Compounds. _J/‘_‘-‘,}JJ;;‘/_.;L”( (iii)
(iv) | Describe two characteristics of liquid. S L«y;;;;(,;ét (iv)
(v) | Convert 140cm Hg to atm . /L atm 140cm Hg )
(vi) | What is your normal blood pressure? S B 2, KT (vi)
(vii) | Define solute and solvent with one example. -J_/J/aflzﬁdl‘/l.f_uf_‘;,’vﬁu,:}« (vii)
(viii) | How will you prepare 1M NaOH solution? LSt 1M NaOH i (viii)
4. Attempt any five parts. 10=2X5 -é’-{déE'ﬂﬁ'Zlac—Jl 4/Jlr
0] Wcﬁnc redox reaction. -J/J/?Jd:{ld/‘ﬂ}/ )
(i) | Calculate oxidation number of sulphur in Na,SO, . -«J_/(P/IJJ-J/TK/’PJ: Na,SO, (i)
(iii) Ygu !)uy a tin packed beverage. Whic!1 technique used in sl o f LU BLsF sl Lt (i)
this tin packed beverage for preservation? : =
Se bW 25l LF
(iv) | Does non electrolytes form ions in solution? LA TP U i (iv)
| (v) | Which type of elements arc metals? ?winﬂ"u""-{l&(’."/ )
(vi) | Write two uses of Magnesium. -u//}_-.uu-“rmérf‘-‘{’ (vi)
(vii) | Write the valency of Chlorine. N a2 (vii)
(viii) | What is meant by Halogen group? et o en /P ska (viii)
SECTION-II ¢n-»
NOTE: Attempt any two questions. 18=2 X9 _éd_-,pgé_.,m,,,;d[ v
5.(A) | Define chemistry. Explain any four branches of -)UJJuszWJde/“-{-J_/J/‘?Jd‘/f (U5
chemistry. 1+4 o/

(B) | Write note on defects in Rutherford’s model. 4 _J/4j¢,)/wj®£J5L51}/;/ )
6.(A) | Define lonic bond. Explain with example. 243 -LJ:/VU’LJL‘AL{/IML’/‘TJZ'&J{‘T (-6
(B) | State Boyle’s Law. Describe its experimental 143 S dA0ASU g S S | )

verification.
7.(A) | Give at least five characteristics of suspensions. 5 -q/ugay/égﬁva% .7
(B) | Explain oxidation and reduction in terms of loss or P e L L2 m LoD | ()
gain of electron. i ) ’
4 Gl
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